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TOURISM ADMINISTRATION AND MANAGEMENT
Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Which of the following is Bleisure travel ?
(1) Combining business trip with leisure
(2) Reading books while travelling
(3) Travel for business

(4) Travel for entertainment

2. Which of the following organisations was founded as non-profit organisation in 1951 ?
(1) IATA (2) PATA
(3) WTTC 4) ICOMOS

3.  Norberg-Hodge (1992) observed the effect of a sudden influx of western tourists in
Ladakh, Nepal on young men and states that feelings of inferiority have resulted. They
rush after the symbols of modernity : sunglasses, walkmans and blue jeans several sizes
too small-not because they find these jeans more attractive or comfortable, because they
are symbols of modern life. This statement reflects

(1) Demonstration effect (2) Staged Authenticity
(3) Irritation Index (4) Displacement
4.  ‘Pseudo-events’ presented to satisfy tourist needs for new experience is example of
(1) Standardisation (2) Acculturation
(3) Staged authenticity (4) Cultural baggage

S.  Basic principles of tourism zoning include
(a) Conservation of specific environmental features
(b)  Grouping of resort facilities and activities
(c) Mandatory clustering of facilities/attractions
(d) Maintenance of visual diversity of the above principles :
(1) (a) and (b) are correct (2) (c) and (d) are correct
(3) (a), (b), (¢) and (d) are correct (4) (a), (b) and (c) are correct
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6.  Match List — I with List — II and select the correct answer using the codes given below the

lists :
List - I List — II
(Sustainable tourism (Period During STD
development concepts) concepts evolved)

a. Tourism carrying capacity 1. 2005-2010

b. Slow Tourism il. 1970-1975
c. Appropriate Tourism . 1990-1995
d.  Responsible Tourism iv.  1985-1990
Codes :
a b c d
(1) i i i v
(2) iv il i i
3) i i ivo il
4) i il i iv

7.  Frugal Innovation is an award winning book — 2016 from CIM. The authors of the book

are
(I) Haemoonoh and Abraham Pizam
(2) Philip Kotler and John T. Bowen
(3) Brownlie, D.T. and Wilson A.

(4) Navi Radjou and Jaideep Prabhu

8. Raja Sawai Jai Singh of Jaipur constructed Astronomy labs (Jantar-Mantars) in the
following five cities :

(1) Jaipur, Pushkar, Delhi, Lahore, Mathura
(2) Jaipur, Banaras, Delhi, Sarnath, Ujjain

(3) Jaipur, Mathura, Ujjain, Delhi, Banaras
(4) Jaipur, Calcutta, Mathura, Ujjain, Banaras

9.  Identify the art form which requires a special canvas made of fine gauze-like cloth which
is fortified with tamarind paste, chalk powder and gum. After drying the canvas most
intricate designs are drawn and coloured with natural dyes.

(1) Warli Painting (2) Patta chitra
(3) Kalam (4) Madhubani painting
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10.

11.

12.

13.

14.

Assertion (A) : Ethnic groups strive to maintain subjectivity over their interactions with
tourists.

Reason (R) : Ethnic tourism generates reconstructed senses of identity, place and
tradition among local groups, leading to creative new expressions in art,
and helping local groups resist long standing attitudes of discrimination
among the dominant population.

In the context of the above statements, which of the following is correct :

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)istrue and (R) is false.

(4) (A) is false and (R) is true.

Kashmiri Cuisine includes :
(i)  Yakhni

(i) Aab-Gosht

(iii) Kankod

(iv) Rogan-Josh

Codes :
(1) (i), (ii) and (iii) (2) (@), (i) and (iv)
(3) (@), (iii) and (iv) (4) (i), (iii) and (iv)

The first hotel of International Standards and repute, built by an Indian company for
Indians, the Taj Mahal Palace in Mumbai was opened in the year

(1) 1901 (2) 1902
(3) 1903 4) 1904

A concept believed to have originated in Italy and is also very close to the Indian cooking
concept talking about various aspects of food such as respecting the food, treating the
ingredients the way they are supposed to be treated to retain maximum nutrition and
goodness in the food, also related to organic cooking is known as

(1) Health food (2) Fast food
(3) Slow food (4) Organic food

Demipension plan includes

(1) Room rate, English breakfast & One major meal
(2) Room rate and One meal

(3) Room rate only

(4) None of the above
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15.

16.

17.

18.

19.

20.

The official website of Tourism and Hospitality Sector Skill Council, India is
(1) www.thsc.in (2)  www.thsc.org
(3)  www.thsc.gov.in (4) www.thssc.ac.in

Which one of the following pairs is correctly matched ?

List -1 List — 11
(Name of Airline) (GDS)

a. United Airlines 1. Axess

b. Japan Airlines ii.  Apollo

C. PARS iii. SODA

d. Eastern Airlines iv. Transworld Airlines
Codes

a b c d

() i1 1 v il

3) 1 il iv il
4) iv il ii i
Eurostar is

(1) A high speed train

(2) Cruise line

(3)  Star category for hotels in Europe
(4) Travel Agency

Indian Railways provides exclusive coaches for the journey to a group wanting to travel
for sightseeing, excursion, pilgrimage etc. These are called

(1) Tourist Trains (2) Tourist Cars
(3) Tourist Rail (4) Tourist Bus

Which of the following is dedicated bus service for sightseeing for visitors in many Indian
cities ?

(I) HOHO Bus (2) Charter Bus

(3) Volvo Byle (4) Caravan

The acronym RV stands for
(1) Rapid Vehicle (2) Roadworthy Vehicle
(3) Recreation Vehicle (4) Radio Vehicle

Paper-11 8 J-93-16
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21.

22.

23.

24.

25.

26.

What is the most commonly used method to file tour brochures in the travel industry ?

(1) By date and then by location

(2) By location and then alphabetic

(3) Alphabetic and then by specific order
(4) By special offer and then by date

Which of the following statement is true ?

(1) New Mangalore is on the western coast; it handles dry cargo, granite and fertilisers.
(2) Nhava Sheva is located in Goa

(3) The Kolkata port is not a reverine port.

(4) The port of Tuticorn handles passengers only for overseas transport purposes.

A car rental site located near the Airport terminal but not directly on the premises of the
airport is called

(1) Drop off point (2)  Pick up point
(3) Off-premises location (4) Airport terminal

Which of the following does not apply to the legal and ethical views in the international
context of managing ?

(1) The Foreign Corrupt Practices Act
(2) Ethical realism

(3) Cultural relativism

(4) Egoism

The customer pages of a company on “Facebook” is an example of
(1) Viral Marketing (2) Network Marketing
(3) Referral Marketing (4) Social Media Marketing

Find the correct group of statements :
(a) Market mix elements include product, packaging, price and promotion.

(b) During the growth stage of product life cycle, product quality is improved and new
product features and models are introduced.

(c) A company’s total marketing communications program called its ‘promotion mix’
consists of a blend of advertising, sales promotion, public relations and personal

selling.

(d) Market skimming pricing involves setting a high price when the market is price
insensitive.

Codes :

() (a), (b), (c), (d) are correct (2) (a), (b), (c) are correct

(3) (b), (c), (d) are correct 4) (a), (b), (d) are correct
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27.

28.

29.

Assertion (A) : A hospitality company must differentiate its products/services from
those of competitors.

Reason (R) : Differentiation can occur by physical attributes, service, personnel,
location or image.

In the light of the above statements which one of the following code is correct ?

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

4) (A) is false, but (R) is true.

Match List — I with List — I and select the correct answer using the codes given below the
lists :

List -1 List - 11
(Factors influencing (Comprise of )
consumer behaviour)
a Cultural factors L Social class
b. Social factors 1i. Age, occupation, economic situation
c Psychological factors iii.  Reference groups, family
d. Personal factors iv.  Beliefs, attitudes, learning
Codes :
a b c d
(1) iv i i il
2) i i v il
3) i i v il
@) i ivodi i

The concepts under which organizations have been conducting marketing activity are as
follows :

(i) Manufacturing concept

(i) Marketing concept

(i) Selling

(iv) Societal marketing concept

The correct sequence in which these were developed over time is
(L @), (), (i), (iv)

(2)  (@v), (i), (1), (i)

(3) (), (i), (1), (iv)

(4) (i), (i), (1), (iv)
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Instructions : Read the passage given below and answer the questions from 30-34 that follow
based on your understanding of the passage :

Mali is one of the poorest countries and home to a number of World Heritage sites. Given the
rising number of tourist arrivals since 1931, the Mali government has made tourism
development a priority. Ninety percent of tourists visit primarily to come to Dogon Land-the
Jewel of Malian tourism and a World Heritage site. The magic of Dogon country is its
inaccessibility, which has protected the authenticity of the culture and people.

Over the years the sacred character of rituals has become diluted and people are even selling off
authentic cultural artefacts. Conversely, tourists have been vulnerable to kidnap since 2009 and
a political coup in 2012 made it a no-go area for tourists, cultural artefacts have also been
damaged. However, the government tried to rebuild the tourism industry in 2011, but the
country’s campaign to reinstate tourism as a pillar of national GDP carries cultural dilemmas.
The tourism sector is Mali’s third-biggest revenue generator. Many people have become both
desperate and destitute having lost their livelihood from tourism. Such crises clearly render
destinations unsustainable. This situation gives rise to the tension between economic and
cultural sustainability.

30. Which one of the following is the key attraction for tourists to visit Mali ?
(1)  Ethnic tourism (2) Ecotourism
(3) Cultural tourism (4) Adventure tourism

31. Find the jewel of Malian tourism that attracts a vast majority of tourists ?
(1) Sigui dance (2) Cosmology of the star syrius
(3) Dogon land (4) All the above

32.  Which are the two prominent issues that emerged from the promotion of tourism ?
(1) Ecological and Economic sustainability
(2) Economic and cultural sustainability
(3)  Social and cultural sustainability
(4) Cultural and ecological sustainability

33. Assertion (A) : The dilution of the sacred character of the magic of Dogon country
witnessed the miserable condition of many local people losing their
livelihood from tourism.

Reason (R) : The Mali government’s campaign to reinstate tourism as a pillar of
national GDP stands as a barrier to preserve the cultural diversity of
Mali.

In the light of the above statements which one of the following code is correct ?
Codes :
(1) Both (A) and (R) are true, but (R) is the correct explanation of (A).
(2) Both (A) and (R) true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
4) (A) is false, but (R) is true.
Paper-I1 14 J-93-16



I frAfeIRaT TeITer B ufeu SR T MR o R § SO S % SR WX WAl (U9 TEr 30 o

30.

31.

32.

33.

34?‘!35)35%'{'33%!11:

AT Teem <9 | @ U € 3R T8t e fove o wiet € | 99 1931 W A ool 93
TN ¥ g g &, Aol PR = T foehrg bl Mefies S-mam & | s Ufaerd wdesh e &9 9
A ofg - ATell Tded #1 IRMUT oY fave formad Tet & amr W e & | SR I91 6 g
T AT & T8 3Hen! TEpfa 3R A bl WTETTOTehdT ol TRIRTd 7@ € |

fomma it & SR w1 ufe AR F FIfUe & T & SR AT urfvres SRR Rreasaar off
99 € | 39 [aORia Tgeshi il 2009 F TEIUT HT TART & 3T 2012 F TSI ag&dl Jete
T TIeH % foIT AT (R S aret) & 41 {921 &, Tikepiae Rieaepiaa off affaukd g8 € |
qAMY, THR F 2011 H TS ST o YAMEDT H TG foha g 9o &l U™ 993
(TSt o T & B H O R0 e & Q0 % ST o H Gihiaeh gadr ¢ | 982 &
ATl T AT TG I I GoTh © | 3 AT Uded & 30T STSTiTeshT Tamehe FRIeT 317
TG & T € | 3 TRE o Tehe A T WAl bl T T T U= o1 f$a1 € | 39 RE B
Tt anforen 3R Wikepide qoaaT o die T Scq Rl & |

frfeiad & & S T & feIT ATl & A 8 T SR € 2
(1) Gonid famaes (Tfafes) 9de (2) IR 9geT

(3) TP q¥eA (4) RS TR

T % G2 1 FIRMT S Afeha qdeeh ol 3Tt hidT & ol Ial Ty
(1) TET= (2) WERIY AR H TS
(3) < (4) o o

3T Hewaqul qe T 93 & Gad § W E T FM1E 2
(1) uifeEiqesa iR enfas aroiEdr
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34. Which of the following critical crises that made the government of Mali to re-think its
future tourism strategy ?

(1) Kidnapping tourists and political coup
(2) Unemployment and poverty
(3) Anti-tourism campaign and carrying capacity

(4) Commodification of culture and social inequality

35. Assertion (A) : Tourism often stimulates measures to protect or conserve nature, but at
the same time presents a significant environmental risk, especially
because of its demands on the natural environment.

Reason (R) : Tourism provides an economic impetus for conservation of the
environment because protected areas are major attractions for domestic
and international tourists.

In the context of the above statements which of the following is correct ?
Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue and (R) is false.

4) (A) is false, but (R) is true.

36. If a statistical measure based upon the population is called a parameter, what would a
measure based on a sample be called ?

(1) Sample parameter (2) Variable
(3) Inference (4) Statistic

37. A binomial distribution is
(1) Never symmetrical
(2) Never positively skewed
(3) Never negatively skewed
(4) Symmetrical when P =0.5

38. A test of the null hypothesis where the alternative hypothesis is expressed directionally is

called as
(1) Two-tailed test (2) Type-I test
(3)  One-tailed test (4) Type-II test
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39.

40.

41.

42.

43.

Hypothesis can not be stated in
(I) Declarative terms (2)  Null and question form terms

(3) General terms (4) Directional terms

Assertion (A) : Type II error occurs when, based on the sample results, the null
hypothesis is not rejected when it is in fact false.

Reason (R) : The proportion of customers preferring the new service plan is less than
or equal to 0.40 when in fact, it is greater than 0.40.

In the context of two statements, which one of the following is correct ?

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, and (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

4) (A) is false, but (R) is true.

Stock valuation is at the latest price under
(I) Least in first out method (2) Highest in first out method
(3) Market price method (4) Simple average method

In which order are the following items shown in the Balance Sheet of a Hotel company :
(1)  Share Capital

(i) Reserves and Surplus

(ii1) Debentures

(iv) Current liabilities and provisions

(1 @®, (i), (iv), (i)

(2)  (v), (i), (i), ()

(3) (i), (i), (1), (v)

@4 (®, (1), (i), (iv)

Tourism Finance corporation of India is

(1)  Wholly owned government of India undertaking

(2)  Wholly owned subsidiary of R.B.I.

(3) A corporation owned by Government of India and Public Sector Bank

(4) Public sector corporation owned by Hotel Corporation of India.
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40.

41.

42.
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44. Match the items in List — I (Managers) with those in List — II (Responsibilities in finance

function)
List -1 List - II
1. Marketing Analyst a. Links financial control system
ii.  Purchase Manager b.  Provides inputs in the process of forecasting
and planning
iii.  Sales Manager c.  Determines policy regarding receivables
iv. Departmental Manager  d. Influences the level of investment in
inventories
Codes :
1 i1 v
() b d C a
2 a b C d
3) b c d a
4 d c b a

45. Which of the following is not a correct asset turnover ratio ?

ey

2

3)

4

Cost of goods sold
Average total assets

Fixed Assets Turnover =

Cost of goods sold
Average capital employed

Capital Turnover =

Cost of goods sold
Average current assets

Current Assets Turnover =

Cost of goods sold
Net working capital

Working Capital Turnover =

46. Consider the following statements :

(1)
(i)

Public expectations from business have changed.

Social responsibility creates a better and supporting environment for business.

(11) Social responsibility improves the public image of business.

(iv) Legal compliance to social responsibility falls on share holders.
Of the above statements, select the correct ones using the codes given below :

Codes :

(1) (i) and (iii)

(2) (i) and (iii)

(3) (i), (ii) and (iii)
(4) (ii), (iii) and (iv)

Paper-I1
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(iv) IS STRRTEe o fafies Samer i SRR Saweren & € |
IR AT o FeH H A ST T e I TN X Y el S gu
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47. Match the concepts in List — I with their contributors in List — II and select the correct

answer using the codes given below :

List - I

a. MBO

b. Hawthorne Experiment
c. Need Hierarchy theory
d. Differential Wage Plan
Codes :

a b c d

(1) iv il i il
(2) i it v i
3) ii i i v
4 i i i v

il.

1il.

1v.

List - II
Abraham Maslow
Elton Mayo
F.A. Helsey

Peter Drucker

48. As per which of the following leadership theories, the leadership effectiveness is

determined by the interaction between the leader’s personal characteristics and aspects of

the situation ?

ey
2
3)
4

Contingency theory
Cognitive resource theory
Normative decision theory

Path-goal theory

49. Which one of the following is ‘NOT’ one of the ‘myths’ about business ethics ?

ey
2
3)
“4)

Ethics is personal

Information is neutral and amoral

Good business means good ethics

Business ethics is not relative

50. Which of the following types of planning is derived from corporate planning ?

€]
2
3)
4

Paper-I1

Strategic planning

Functional planning

Formal planning

Proactive planning
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